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FT+ 100
N- 3-HB,
AU480 BHB FT+
8
AC
30ml
€)
BHB AC
(1) ZERO
ZERO 1
-0.489mM/L AC 1.677mMI/L SR BHB
AC 0.241mM/L
1 ZERO
BHB AC
(Sr) (Sr)
mMm/L mM/L mMm/L mMm/L
-0.489 0.002 1.677 0.409
-0.481 0.009 2.464 1.345
-0.495 0.000 0.917 0.018
SR 0.002 0.002 0.241 0.206
)
LL BHB AC 2
BHB 0.04mM/L AC

BHB 0.009mM/L AC

BHB

BHB

BHB
0.002mM/L

BHB AC
0.06 0.10mM/L

0.020mM/L



BHB AC
(Sr) (Sr)
mMm/L mM/L mM/L mMm/L
1 0.043 0.009 0.055 0.018
2 0.044 0.010 0.092 0.020
3 0.041 0.010 0.096 0.022
4 0.039 0.009 0.096 0.020
5 0.044 0.009 0.087 0.020
6 0.039 0.009 0.076 0.019
0.042 0.009 0.084 0.020
SR 0.009 0.003 0.016 0.007
3
3
BHB AC BHB AC 1
mMm/L mM/L mM/L mMm/L
0.030 0.010 0.042 0.032 945
Max 0.06 0.06 0.21 0.09 2984
Min 0.00 0.00 0.02 0.00 11
SR 0.011 0.011 0.023 0.012
4
FT+
1 2
BHB FT+ 0.120mM/L FT+ 0.102mM/L
0.952 FT+= FT+x 1.024
0.015 0.032mM/L
AC FT+ 0.163mM/L FT+ 0.151mM/L
0.789 FT+= FT+x 0.833 0.037
0.134mM/L AC 0.5mM/L

0.861 FT+ = FT+x 0.867 0.020 0.057mM/L






®)
FT+ BHB

98 BHB 4 3
BHB FT+ 0.102mM/L 0.066mM/L FT+
0.719
=FT+x 0.719 0.006 1.0
0.050mM/L FT+
CFA
FT+
4 FT+ BHB
n y: X:FT+
Slope intercept
ET+ 98 822? 0.050 0.719 0.711 -0.006
(6)
30ml
BHB AC 5

BHB 0.014mM/L AC 0.019mM/L



t (5% P
mM/L mM/L mM/L
BHB 53 0.053 0.067 0.014 <0.01
AC 53 0.149 0.130 -0.019 <0.01
Q)
1)
a.
BHB 0.03mM/L AC 0.00mM/L AC
LL 6
BHB AC
b.
BHB AC 6 1)
2 BHB 0.009mM/L AC 0.02mM/L
6
AC BHB
mM/L mM/L
0.04 0.01
C.
2
SR
30 BHB
+ 0.03 0.009x 3 AC + 0.05 0.016x 3
2)
BHB

1 1)2)

LL

AC



3)

3 1 SR
SR + 30 BHB 0.03
+ 0.03 0.011x 3 AC 0.00 0.03 0.011x 3
1 1
2,000
BHB 0.03mM/L AC 0.00mM/L 1)
1 2,000
1,000
bias bias + 0.01 1,000
BHB AC
AC 0.00mM/L
AC 0.01mM/L
4)
3. (7),1),c SR R
f 3) 7
BHB 0.03mM/L AC 0.06mM/L
7
(R)
n f(n) AC BHB
2 2.8 0.045 0.025
3 33 0.053 0.030
4 3.6 0.058 0.032
5 3.9 0.062 0.035
6 4.0 0.064 0.036
7 4.2 0.067 0.038
8 4.3 0.069 0.039
9 4.4 0.070 0.040
10 4.5 0.072 0.041
5)

BHB AC 8



LL

AC + 0.04mM/L

BHB + 0.01mM/L

AC + 0.05mM/L
BHB + 0.03mM/L
AC 0.00 0.03

BHB 0.03+ 0.03

R 1y AC SR:0.016 x f(n)
BHB SR:0.009 x f(n)
1) R = f(n)x SR

1) MilkoScan FT+ Ketosis Calibration , FOSS Application Note 35c, August 2010
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